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current of 10mA theri impedance will be:

L
S.# Questions A B C D
If an iron core coil of reactance 6280 is placed i
1 | in series with 4504 resistance in AC circuit. 51.5° 60° 30° 45°
The phase difference will be: 1
Wave R Pauli Electronic
2 | Energy band theory based on: mechanical onfiguration
model
model of electrons
In transistor with common emitter
3 | configuration, output voltage is at phase 90° 100° 180°
difference of:
An electronic computer is vast arrangement of b : 5
* electronic switches which are made from: REAGS - . Aransise
5 mt;c has the unit of: Time ce Velocity . | Acceleration
: : 6.l
6 An electron moving with speed of 1x10°ms 7 7%10°°m 7%10°m 7%x10~3m
has wavelength: :
Velocity of electron of hydrogen in different - Increase in | Independent of
J orbits is: I Quantized higher orbits | orbit number
Chuas. Three quark
8 | Itis believed that quark cannot exist ] Free state Bound state antiquark 4 e
; o combination
combination
o | tiies viciet eadiation caus Heglthy Saver crop Fast hair Formation of
growth damage Srow ozone
10 | Joule per Coulomb i Second Newton Watt Volt
R Mass Distance . Stronger than
I | it dependent dependent gl electric force
In carbon resistance, colour bands are red, red,
12 | red and silver. The numerical value of 2200Q+10% 220045% | 220000+20% | 220+10%
resistance will be:
The torque on a current carrying rectangular ;
12 | ot placed outside the magnetic field will be: NAR ] AR 8 [A cos 0
14 Sensitivity of moving coil galvanometer can be Decreasing Df“cnrebasm% Using th.ICk lncreazli:lg
increased by: area of coil TN Suspension s s
turns wire field
When motor is just started, the current passing
15 through the coil will be: Large Small Zero Average
i 16 e wmdl_ngs of electromagnet in DC motor Solenoids Field coils Inductors Loops
| are called: . :
i 17 When 10V is applied to an AC circuit with 1000 100 10000 0.10
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Intermediate Part Second Roll No. -

PHYSICS g Subjective)  GROUP - I
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SECTION -1

Write short answers to any EIGHT parts.

£+« [Fu point charge *g° uf‘ mass ‘m’ is released ir 1 non-uniform electric field with electric field lines pointing in
the -ame dircctinn will it make a rects linea motion?

0t Iaribe the force o forces on a positive porrt charge when placed between parallel plates (i) with similar and
eyral charges (1i) with opposite and equal charges.

‘it What is the potential gradient? Write 'ts unit,

tiv)  What is EEG and ERG?

v How can you use a current loop to determine the presence of a magnetic field in a given region of space?

(i1 Why the resistance of an ammeter should be very low? :

f+o1: Whe parallel curvent attract and opposite cutrent repel?

' )"-'""LEIHh between sensitive and dead-beat galvanometer.
-t How can radicactivity help in the 1-eatment of Cancer”

W ‘xn do we mean by the term critical mass®
£xil f decays twice by a-emission. what is the resulting isotope? o
'\'L-*lr two advantages of solid-state detector? o

- Write short answers to any EIGHT parts.

ity Write the heating effect of the currant.

frin Why dees the resistance of a conductor rise with temp %

firin - Mariam why the termyral petential difference >fa baﬂ& when the current drawn from 1t 7z incree set
iy What icoa choke?

v How doees doubling the frequency affet the “eac c,apac:ltoﬂ

v A sinusoidal current has rms value of [0A Qi Ifat 15Wbe maximum or peak value?

; Ihs'imguish between hard magnetic meteri S8t magnetic material.

“it Define the terms vield point and uig stress.

ix1 How the hysteresis loss is used i piiSttction ot & transforinér?

3 Why s the base current in a transistifvery small?

xit Write the truth table and Bool pression of NAND gete.

(xitr What is the biasing requirdiuer he runctions of a transistor for its normal operation?”

A parts,

i Shet it g e the same units,

tiy Clanoan 1 be used to drive an elect-ic generator with the output from the generator being used to
operile 3 ntt ;

thit - State LenA law. Does it agree with the law of conservation of energy?

fiv) _):.1 ne mutual inductance and also define its uni.
(xy st possible to create a single electron from erergy? Explain.
{v13 We do not notice de-Broglie wavelength for a pitched cricket ball. Explain why?
fvinr Hthe speed of light were infinite what would be the equations of special theory of relativitv reduced?
+ Caleulate the Tongest wavelength 7 radiation for Paschen series.
v Isenergy censerved when an atom emits a pkoton of light?

: DFCTIO\! - H Attempt any THREE questions. Each quesnon carries 08 marks. E
AW hal s Wheatstone Bndge" H-::m 1t can be used to find the unknown resistance? 0
thiDetermine the clectric ficld at the position ¥ =(4i-+3))m caused by a point charge g=5.0x10"°C
placed 2¢ origin. 0
ta)State cod explain Faradzy's Law of electrorregnetic induction. 0
{hy A pever line 10m high caries a current 200A. Find the magnetic field of wire at the ground. 0

( Continued P/2)



- (a)Derive an expression for the resonance frequency in R.L.C series circuit. Also give properties of

Series resonance circuit.

(b)The current flowing into the base of a transistor is 100pA. Find its collector current Ic, its emitter

current Ig and the ratio I, if the value of current gain 8 is 100.

I

. (a)Explain energy band theory of solids. How does it help to distinguish between conductors, insulators

and semi-conductors?

(b) What is the de-Broglie wavelength of an electron whose Kinetic energy is 120eV ?

). (a) Write three postulate of Bohr’s atomic model. Derive an expression for radii of quantized orbit of

hydrogen atom?

B

(b)Find the energy associated with the following reaction:

14, 4 .. 1
sN+,He —» O+ H.
What does negative sign indicate?
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